
1)

Answer: ____________

2) 15/10 ÷ 15/6

Answer: ____________

3) 63.5 - 75.1

Answer: ____________

4) An amount was increased by 10.6% 
to $223.00. Find the original amount.

Answer: ____________

5) 78.9 - 24.3

Answer: ____________

6) Find the percentage change from 9 to 
18

Answer: ____________

7) 11/7 ÷ 41/2

Answer: ____________

8) 11/7 ÷ 41/2

Answer: ____________

9) What would you multiply by to 
decrease an amount by 96%?

Answer: ____________

10) 6.2 x 23.2

Answer: ____________

11) Decrease 55 by 2/11

Answer: ____________

12) 11/
1 ÷ 16

/1

Answer: ____________

13) Find the mode of the following set of data:

27, 27, 27, 27, 27, 27, 27, 29, 29, 
29, 29, 29, 29, 29, 38, 38, 38, 38, 
38, 22, 22, 22, 22, 22, 22, 22

Answer: ____________

14)
13 Find Volume of 
         20               Triangular Pyramid

15 20
14

Answer: ____________

15) 56/7 ÷ 21/2

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

May 18, 2018

Sr: 18052018-348
 

http://www.geekschool.co.uk


16) 56/7 ÷ 21/2

Answer: ____________

17) Find perimeter of 
triangle s = 23 cm

Answer: ____________

18) f19 / f18

Answer: ____________

19) 21/9 ÷ 64/8

Answer: ____________

20) 3/6 + 9/9

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 9/11 3) -11.6 4) $201.63 5) 54.6 6) 100% 7) 16/63

8) 16/63 9) 0.04 10) 143.84 11) 45 12) 11/16 13) 22 14) 455

15) 212/35 16) 212/35 17) 69cm 18) f1 19) 38/117 20) 11/2
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